2 2 — |
z—g“/v"llal=ggﬂ_/\rc{ :{;/_,AW

M

(4 O{Z
av:—-rrc) J I

Vb

M Tt wegom

oA S\[wyet-2g4" —




N A — 204 ,
T 22091 )09 — : 2 4620, %8
3 <\( ‘ﬁ,b gy 2 ,([ ‘{Y,Lq"-ZQ‘l?‘ i/ ‘f / (T\

%

A= Uon 9L + 44198891 = 2400528 = 250

K\//_—_QD 280 250 2%

= 499092 - L + 119 28

A







[ |

T2 (—4%

—_—

NIC

t29 |4

M. WVanC



o I 6%14 A5 % 2%31

M 19y +Ox=
- (x 43y +0x=0 [\t Dy = 5‘/+“ng&—~‘{0=0
% - M + ~{J x(xc+5)=0 % =
09 _ o Iy-3 =0 /19
COA?) LAX AX /\\ KZL_L/—,-
%0  y=-§ IZ v
SAZ(ZX - é> =() o »f‘-“f
/\ ,,]: [_CQ(O], @: [}5707 Hy= 2
=0 2xtb=0 G
) x=-1 P=(3,27]

K o= B2



D X
(Oxo}ft _ /\8

O M DY %
%3‘—» _ Agx4St
%A?)L

b4= Jx+ %0

Nx+t ?O\ 48‘2{

/I?AZ \/H?MW \

&’2 [0,0] -t - /Z.,Z m‘m;w\/
(’Z = [€0] | + LA haiman
=032 | - -] M
Py= (32 - | M

) .

= Q‘ZX +’$O)(42?< +S‘Y) — @8"3’)1
- Q




